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         MM - 80
1. What  must  be  added  to  polynomial  f(x) = x4  +  2x3  - 2x2 + x - 1  so  that  the resulting  polynomial is exactly divisible by x 2  - 4x + 3. 

	2. Radius of a circle is 8 cm. A point P is 17 cm away from the centre of this circle. 
      What will be the length of the tangent drawn from this point P to the circle. 



	3. Find the distant of a point (x, y) from the origin of the co-ordinate axis.  



	4. A  pendulum swings through  an angle of 300  and describes an arc 8.8 cm in length. 
      Find the length of the pendulum.? (Take π = 22/7 ) 



	5. Find the sum of n terms of an AP whose nth term is  given by an = 5 - 6n.



	6. Which measure of central tendency is given by the x – coordinate of the point 
      of intersection  of  the ‘more than’ ogive and ‘less than’ ogive ? 



	7. A die is thrown once. What is the probability of getting a number between 3 and 6. 



	8. The common difference of an A.P. is 4. Find the value of  a60 - a55  

	9. The  sum and product of the zeroes of a quadratic polynomial are [image: image2.png]


 and –3 respectively. What is the quadratic polynomial. 


	10. The lengths of two cylinders are in the ratio 3 : 1 & their diameters are in the ratio 1 : 2. Calculate the ratio of their volumes.


	11. Without using trigonometric table, evaluate the following : 
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                                                               Or

                      If   
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	12. A bag contains 5 red balls and some blue balls. If the probability of drawing a blue ball from the bag is thrice that of a red ball, find the number of blue balls in the bag. 



	13. Prove that √3 is an irrational number.

	14. If  the heights  of two cones are in the ratio of 1:3 and their diameters are in the ratio of 3 : 5, find the ratio of their volumes. 


	15. Prove that the tangents drawn  at  the  ends  of  a  diameter of  a  circle  are parallel. 



	16. A spiral is made up of successive semicircles, with centre alternately at A and B, starting  with centre at A, of  radii 0.5 cm, 1.0 cm, 1.5 cm, 2.0 cm, … What is the total length of such a spiral made up of thirteen consecutive semicircles ? 


	17. Solve by using Quadratic formula:  
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                                                    Or

           Solve the equation by the method of completing the square :  
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	18. Show that the points A (2, -2), B (14, 10), C (11, 13) and D (-1, 1) are the vertices of a rectangle.

                                                              Or

           Determine the ratio  in  which  the points (6,a)divides the join of A (-3, -1) & B (-8, 9). 

           Also find the value of “a”. 



	19. Draw  a triangle ABC with side BC = 7cm, B = 45º, A = 105º. Then, construct a triangle  whose sides are  
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	20. Prove the identity:   
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	21. How many terms of the AP:  24, 21, 18, ….. must be taken so that their sum is 78 ?

                                                           Or 
          Find the sum of first 24 terms if the nth term is given by  an = 9 – 5n


	22. Solve for x and y :   (a – b)x + (a + b)y = a2 – 2ab – b2  ;  (a + b)(x + y) = a2 + b2
                                                           Or

                                         6( ax + by ) = 3a + 2b  ;  6( bx – ay ) = 3b – 2a 



	23. A  cylindrical  container is  filled  with ice cream, whose  radius is 6 cm and height 15cm.The whole ice cream is distributed among 10 children in equal cones having hemi-spherical top. If the height of the conical portion is 4 times the radius of its  base. Find the radius of the base of the cone.




24. If OACBis a quadrant  of  a  circle with centre O and radius 3.5 cm. If OD = 2 cm find the area of the shaded region.  ( use 
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25. A  shopkeeper buys a  certain no. of books for Rs.1200.If he had bought 10 more books for the same amount, each book would have cost him Rs.20 less. Find the original number of books he had purchased. 

26. From  an  aeroplane  vertically  above  a  straight horizontal road, the angles of depression  of  two  consecutive milestones on  opposite sides of the aero plane are  observed to  be  α  and  .Show that the height of the aero plane above the road is tan α.tan β/(tan α+tan β).

                                             Or 

            A  vertical  tower stands on a horizontal plane and is surmounted by a flagstaff 
            of  height h.  At a  point  on  the  ground , the  angle  of  the  elevation  of the 
            bottom  of the flagstaff is ( and that of the top of the flagstaff is (.Prove that 
            the height of the tower is h tan( / (tan( - tan().

	

	27. A  cylindrical  bucket 32 cm high  and  with  radius  of  base 18 cm, is filled with 
     sand.This bucket is emptied on the ground and a conical heap of sand is formed. 
     If the height of the conical heap is 24 cm, find the radius and slant height of the 
     heap.

                                                              Or

           The radii of the ends of a bucket 45 cm high are 28 cm and 7 cm. find its volume 
           and the total surface area. 



	28. Show that the ratio of the areas of two similar triangles is equal to the ratio of the squares of their corresponding sidesTwo triangles ABC and PQR are similar. If area (
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29. A  person  on  tour  has  Rs. 360  for  his  expenses. If he extends his tour for 4 days, he has to cut down his daily expenses by Rs 3. Find the original duration of the tour.

	

	30. If the mean of the following data is 52, find the missing frequency :

Wages: (In Rs.)
10 - 20

20 - 30

30 – 40

40 - 50

50 - 60

60 – 70

70 - 80

No. of Workers
5

3

4

?

2

6

13

       Also construct a cumulative frequency curve and find the median from the graph.
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